N of simulated tracks vs transverse vert position

=

TrackingParticles

0.95 i
1072 107

o
w

N of associated tracks (simToReco) vs transverse vert position

TPs

ed

=
o

Reconstruct

N of simulated tracks vs z vert position

(Y
(=)
w

TrackingParticles

[y
o
N

10

10 10
TP vertr (cm)

N of associated tracks (simToReco) vs z vert position |

Reconstructed TPs

Ratio

-

10 20 30

TP vert z (cm)

-

107

10 10°
TP vertr (cm)

N of simulated tracks vs.simPVz |

=
o
W

TrackingParticles

=
o
N

10

T T T =T T 1T

5

10 15 20
TP Sim. PV z (cm)

Rati

=20 -10 0 10 20 30
TP vert z (cm)

| N of associated tracks (simToReco) vs. sim PV z |

[%2]

a

'_

©

9

Q

2

1]

c

[e}

(8}

[0}

o

o «f

g 3f
2F
1E
-10

TP Sim. PV z (cm)



	Contents
	Page 1


